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Figure 23.12

Electric Field due to a charge q
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Example 23.8

A ring of radius a carries a total charge (). Calculate the electric field due to the
ring at a point P. a distance z from its center, along the central axis perpendicular
to the ring.
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Figure 23.17
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Example 23.9

A disk of radius R has a uniform charge density ¢. Calculate the electric field
due to the disk at a point P. a distance x from its center, along the central axis
perpendicular to the disk.
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Figura 23.18
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Electric Field Lines

Serway, Physics for Scientists and Engingers, /e

«Same direction as the electric field
vector at any point.

E is tangent to the electric field line
D = *Number of lines perpendicular to the
lines is proportional to the field
*E small: lines further apart
E large: Lines closer

(a) (b)

*No two lines can cross

Harcourt, Inc.
Lines begin on a positive charges and end of negative charges
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Figure 23.21a

1/r?2 behavior from geometry.
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Motion of Charged Particles in a Uniform Electric Field

Serway, Physics for Scientists and Engingers, /e

Figura 23.24
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